HOLIDAYS' HOMEWORK-CLASS-X
@J Scholars
Global School SUMMER VACATION (2025-26)

SUBJECT - ENGLISH

Theme: Unlock Your Inner Explorer!

Let’s turn your holidays into a journey of fun, creativity, and discovery.

Mission 1: The Magical Toolbox of Language (Literary Devices Quest)

Choose any FOUR from the list below. For each: Define the literary device in your own words. Give
two original examples ( from the book!)

Your options: Simile | Metaphor | Personification | Repetition | Onomatopoeia | Anaphora |
Alliteration | Antithesis | Imagery | Irony

Creative Tip: Turn your definitions into a comic strip, flipbook, or illustrated page if you like!
Mission 2: Voice for Change (Editorial Challenge)

Write a letter to the Editor of The Indian Express (100-120 words), expressing your concern about
growing technological addiction among today’s youth.

Creative Tip: Write it like a superhero trying to save the young generation.
Mission 3: Nature’s Whisper (Poster Designing Task)

Design a vibrant, eye-catching poster to promote water conservation in your area:

Include catchy slogans, drawings, or even QR codes linking to facts (optional).

Focus on saving water during drought and managing it during floods.

Creative Tip : Title it “Water Warriors: Our Mission to Save Every Drop!”

Mission 4: Wizarding World Experience
Watch all parts of the Harry Potter movie series (in English with subtitles).

List the names of at least FIVE characters .Write a short paragraph (100-120 words) about the
character you relate to most and why.

Creative Tip: Create a mini character profile or wand design to go with your write-up!

Mission 5 : Time Capsule Reading

Read The Diary of a Young Girl by Anne Frank.
Write a summary, List main characters

Share a short review (What did you learn? What inspired you?)

Creative Tip: Take yourself as you’re Anne’s modern-day pen pal and write a mini journal entry
from her point of view.

Mission 6: Lights, Camera, Speak!

Choose a topic you love (academic or personal interest).

Record a video (up to 3 minutes) sharing your knowledge in English.

Keep it engaging—use props, show a chart, or share a story.

Creative Tip: Assume you're a YouTuber or a TED Talk speaker!

Mission 7: Brainpower Recharge

Revise your syllabus: Make mind maps, flashcards, or summaries.
Solve your assignment carefully. Aim for 100% accuracy.

Creative Tip: Create a study tracker with checkboxes or use color-coded sticky notes.

Note: Do your H.w in a scrap book.




LITERATURE GRAMMAR & WRITING SKILLS WORKSHEET

Q.A Fill up the blanks by using the correct form of the verbs given in brackets

Last week | (a) (visit) the trade fair. It (b) (inaugurate) by the
President of India. I (c) (accompany) by my Friend
who came from the U.S.A. last week. He( d) (live) inthe U.S.A since last five
years. He (e) (do) his M.B.A. from the New York University.

Q B. Do the following answers in 100-120 words in a scrap book.(Any three)

Q.C Read the following advertisement for products using solar energy.

Solar Power Systems For A Greener India ,Excellent Offers ,Solar Cooker

Solar Lanterns ,Solar Heating/Cooking Systems ,Solar Water Heater

Raj Solar Sales and Service 45-Panchkwan Road New Delhi

Write a letter to the editor of The Times Of India, making a plea to the common people to switch over
to solar energy to conserve electricity and limit electricity bills.

Q 1. How far would you agree that one’s positivity can bring in a spark of brightness even in adverse
circumstances’? Give reference from the chap ' A letter to God'

Q 2. Don't bite your nails, Amanda ! Don't hunch your shoulders ,Amanda ! what do the above lines
reflect about Amanda's mother and how Amanda feels about it?

Q3. The poem deals with a child understanding loss for the first time .Matches and championships
too, deal with a different sense of loss. Explain how games and sports are a good way to train children
to take losses in their stride.Give reference from poem ‘The Ball Poem'.

Q4. The young seagull's wanted him to fly like his brothers and sister. How could the young seagull's
newly flying siblings (brother 1, brother 2 and sister) have motivated him? write a brief conversation
among them.




HOLIDAY HOMEWORK

JScholars

Global School CLASS X SCIENCE

PHYSICS

1. Visit a mirror house and click a pic. of your image. Think about the shape of the mirror, giving proper
explanation using your knowledge of optics.

2. Write uses of different mirrors in modern life and technologies. Find a bit different uses.

3. Using two plane mirrors make an arrangement so that a ray incident on one plane mirror becomes
parallel to itself after reflection from the second mirror.

4. Mirror formula is a relation between object distance (u), image distance (v) and focal length (f) of a
spherical mirror. It can be written as 1/u + 1/v = 1/f = 2/R where R is the radius of curvature of the mirror.
This formula is valid in all situations for all spherical mirrors for all positions of the object. Consider the
case, in which a mirror forms a real image of height 4 cm of an object of height 1 cm placed 20 cm away
from the mirror.

C)

college

Object——

Principal
axis

Mirror

(1) The distance from the object to its image is
(a) 20 cm (b) 80 cm (c) 60 cm (d) 70 cm
(11) The focal length of mirror is
(a) -16 cm (b) 12 cm (c)-15 cm (d) 10 cm
(111) The radius of curvature of the mirror is
(a) -16 cm (b) -14 cm (c)-30 cm (d)-32 cm
(iv) The magnification of the image is
(a) 3 (b) -6 (c)-4 (d)8

(v) At what distance must an object be placed from mirror in order that a real image double its size may
be obtained?

(a) -24 cm (b)32 cm (c)-40cm  (d)45cm

5. Practice all NCERT questions based on mirror (all examples, in text and exercises)




CHEMISTRY
1. Complete the Concept Map and Identify A to E.
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. A sulphate salt of calcium is white, soft substance which is used in decorating walls and ceilings. It
can be moulded easily but once left in open it becomes hard and cannot be used for moulding
purposes. Identify the sulphate salt. Why does it show such a behaviour? Give the reactions
involved.

. What is observed when carbon dioxide gas is passed through lime water
(1) for a short duration?

(ii) for a long duration? Also write the chemical equations for the reactions involved

(1) Draw a labelled diagram to show the preparation of hydrogen chloride gas in laboratory.

(i1) Test the gas evolved first with dry and then with wet litmus paper. In which of the two cases,
does the litmus paper show change in colour?

. Observe the figure given below and answer the following questions:

What is the difference between washing soda and baking soda? How can baking soda be converted to
washing soda?

Aqueous solution of Baking Soda is alkaline in nature. Comment.

For a soft and spongy cake, baker must add baking powder. What is the method to make baking
powder from baking soda?

Write one medicinal use of baking soda.

Write one commercial use of washing soda.

6. Given below are the results of the solutions tested with universal indicator.

Solution Color with universal indicator
Car battery acid Pink
Milk of Magnesia Light blue
Sulphuric Acid Red
1v) Oven Cleaner Purple

a) Arrange the solutions in decreasing order of pH values.
b) Tell the Nature of oven cleaner.
c¢) Write one use of milk of magnesia.




BIOLOGY

THEME- ECO

COMPOST
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Become an Eco-Avenger!- Demonstrate great citizenship by not just being responsible individuals,
but superheroes — ECO-AVENGERS. As informed and concerned citizens, it's our duty to
understand our environment and seek innovative biological solutions to preserve it.

STEP 1. Investigate an Environmental Issue- Choose one issue: air pollution, plastic waste,
deforestation, water scarcity, etc.

Explain the biological impact on ecosystems and human health.

Suggest innovative biology-based solutions (e.g., using algae for water purification,
vermicomposting).

Format: Report (3—5 pages) with diagrams and case studies

STEP -2- Create Your Own Eco-Avenger Superhero!

Design a superhero character whose powers are based on environmental biology (e.g., reducing
pollution, increasing biodiversity, conserving water) and can solve the environmental issue you have
found very serious as per Step 1.

Superhero character would be like -Special powers (based on real biological concepts like
photosynthesis, bioremediation, composting)

Format: Comic strip / Poster / Flipbook

This assignment integrates biology with environmental awareness and creative thinking,
encouraging students to act locally and think globally as responsible citizens.




MATHS HOLIDAY HOMEWORK-CLASS X

1. Do the following lab manual activity in lab manual file:

1. To find zero(es) of a quadratic polynomial geometrically.

i1.To verify the conditions of consistency/ inconsistency for a pair of linear equations in two variables by
graphical method.

iii. To verify that the given sequence is an arithmetic progression by paper cutting and pasting method.

2. Project: Two cricket teams A and B are made for a test match. Team A involves 5 players from Haryana
state and 7 players from Manipur state scored 500 runs in total whereas team B involves 7 players from
Haryana state and 5 players from Manipur state scored 460 runs in total. Form the linear equations in two
variables using given information and represent graphically. Hence find the solution of these equation.
Verify your answer by solving the equations using substitution as well as elimination method.

Assignments (Maths)

CH-1 REAL NUMBERS

Q1. What is the HCF of the smallest composite number and smallest prime number?
Q2. Find the largest number which divides 245 and 1029 leaving remainder 5 in each case.
Q3. Using prime factorization, find the HCF and LCM of 72, 126 and 168.
Q4. The HCF of two numbers is 145 and their LCM is 2175. If one number is 725, find the other.
Q5. The product of two numbers is 20736 and their HCF is 54, find their LCM.
4

Q6. After how many places of decimals, the decimal expansion of the rational number 5 423 will
terminate?
Q7. Check whether 5" can end with the digit 0 for any natural number n.
Q8. Express each of the following as the product of primes.

(a) 6435 (b) 8085 (c) 2184
Q9. If HCF (336, 54) =6, find LCM (336, 54).
Q10. Prove that v/7 is an irrational number.
QI1. Three sets of English, Hindi and Mathematics books have to be stacked in such a way that all the
books are stored topic wise and the height of each stack is the same. The number of English books is 96,
the number of Hindi books is 240 and the number of Mathematics books is 336. Assuming that the books
are of same thickness, determine the number of stacks of English, Hindi and Mathematics books.
Q12. Two brands of chocolates are available in packs of 24 and 15 respectively. If [ need to buy an equal
number of chocolates of both kinds, what is the least number of boxes of each kind I would need to buy?

CH-2 POLYNOMIALS

QI. If (x + k) 1s a factor of 2x* + 2kx + 5x + 10, find k.

Q2. Find a polynomial whose zeros are squares of the zeroes of the polynomial 3x* +6x — 9.

Q3. If 1’ is one of the zeroes of the polynomial p(x) = 7x — x* — 6 find its other zero.

Q4.Find the quadratic polynomial, sum and product of whose zeroes are 2 and — 1 respectively.

QS. If the sum of the zeroes of the quadratic polynomial kx? + 2x + 3k is equal to their product, find k.
Q6. Find a polynomial whose zeroes are 2, 1. What is its degree?

Q7. Find the polynomial whose zeroes are reciprocals of the zeroes of the polynomial 2x? + 3x — 6.
Q8. Find the ratio of the sum and product of the zeroes of the polynomial 5x* + 2x — 10.

Q9. If o and B are zeros of p(x) = x> +x-1, then find i + %‘?

Q10. Find the zeroes of the polynomial 4x2 — 4x + 1, and verify the relationship between zeroes

CH 3 LINEAR EQUATIONS IN TWO VARIABLES
Q1. Determine the value of k for which the given system of equations has unique solution:
a)2x—-3y=1;kx+5y=7 b)4x -S5y=k ; 2x-3y=12
Q2. Find the value of k, for which the system of equations has infinitely many solutions.
a)2x 3y=7, (k+2)x —(2k+1) y=3(2k-1)
byx+(k+l)y=5; (ktl)x+9y=8k-1
Q3. Represent the following equations on the graph and determine the vertices of the triangle, so formed .
a)2y—x=8, S5y—x=14, y-2x=1
b)y=x, y=0, 3x+3y=10




Q4. Draw the graph of x —y + 1 =0 and 3x + 2y —12 = 0. Calculate the area of the triangle bounded by
these lines and the x-axis.
Q5. Solve the system of equations x —y = 1, 2x +y = 8 graphically .Shade the area bounded by these
lines and x-axis. Also find its area.
Q6. A man has belts and handkerchiefs which are together 40 in number. If he had 5 more handkerchiefs
and 5 less belts, the number of handkerchiefs becomes four times the number of belts. Find the original
number of each.
Q7. The age of father is twice the sum of ages of his two children. Ten years hence, the age of father will
be three-quarter of the sum of the ages of his children then. Find the present age of father.
Q8. The numerator of a fraction is 4 less than its denominator. If the numerator is decreased by 2 and the
denominator is increased by 1,the denominator becomes 8 times its numerator. Find the fraction.
Q0. Solve the pair of linear equations by elimination method: 41x — 17y = 99; 17x — 41y = 75.
Q10. Solve the pair of linear equations by elimination method:

(a—b)x+ (a+b)y =a?—2ab+b? (a+b)(x+y)=a®-b2%

CH 4 QUADRATIC EQUATIONS

Q1. The sum of square of two positive numbers is 832. If square of the larger number is 36 times the
smaller number, find the numbers.

Q2. Had Neha scored 10 more marks in her mathematics test out of 50 marks, 9 times these marks would
have been the square of her actual marks. How many marks did she get in the test?

Q3. Find a natural number whose square diminished by 37 is equal to 4 times of 2 more than the given
number.

Q4. A natural number, when decreased by 4, equals 320 times its reciprocal. Find the number.

Q5. Solve quadratic equation p*q*x? + g’x - px - 1=0.

Q6. Solve quadratic equation x>+ 5 x - (a + 3a-4) =0.

Q7. Find solution of quadratic equation b?- 9b+ 20 =0

Q8. A train, traveling at a uniform speed for 6900 km, would have taken 9 hours less to travel the same
distance if its speed were 15 km/h more. Find the original speed of the train.

Q9. The sum of the first n even natural numbers is 30. Find the value of n.

Q10. If the price of a sweet is reduced by Rs. 5, Radha can buy 15 more sweets for Rs. 900. Find the
original price of sweet.

CH 5 ARITHMETIC PROGRESSIONS
Q1. How many terms of the sequence 18, 16, 14, ... should be taken so that their sum is zero?

Q2. The 8th term of an A.P. is 37 and its 12th term is 57. Find the A.P.
Q3. Find the sum of the first 25 terms of an A.P. whose n" term isgiven by t;; = 7 — 5n.

Q4. Find the sum of all two-digit odd positive numbers.
Q5. Find the sum of all the two-digit natural numbers when are divisible by 4.

Q6. The 5th term of an Arithmetic Progression (A.P.) is 26 and the 10th term is 51. Determine the 15th
term of the A.P.

Q7. If m times the mt" term of an A.P. is equal to n times its ntterm, find the (m + n)" term of the A.P.
Q8. For what value of k, are the numbers x, 2x + k and 3x + 6 three consecutive terms of an A.P.?

Q9. Find the middle term of the A.P. 6, 13, 20, ..., 216.

Q10. Find how many integers between 200 and 500 are divisible by 8?




Class X (2025-26)
INFORMATION TECHNOLOGY (402)

+» Do all the question of Chapter: Digital Documentation and Spreadsheet.

QUESTION TO SOLVE

Write a short note on the followings terms-
(i) What-if Analysis

(ii) Consolidate data

(iii) Macros

e Draw chart of all the Menu bar option of Libreoffice Writer and calc with their group
information.

e Create file based on LibreOffice Writer to represent the following
i) Different types of styles.
ii) Table of Content

iii) Template




D Scholars SOCIAL SCIENCE ASSIGNMENT
Global School Ch-2 Nationalism in India (History)

Name: Class: X

Q1 Bardoli Satyagraha was successfully led by
Gujarat in against

Q2 After the incident, Gandhiji was forced to halt the Non
Cooperation movement.

Q3 Name the National movement succeeded by the Gandhi —Irwin
Pact.

Q4 Who announced a vague offer of Dominion Status for India in
19297

QS5 Why were the leaders unhappy with the establishment of provincial councils by the
Government of India act, 1919?

Q6 Explain the role of the Justice Party in boycotting council elections.

Q7 Choose the correct option.

(i) What were the contents of the letter written by Mahatma Gandhi?

(a) It included the new constitution of India .Mahatma Gandhi wanted the British to run India basec
that.

(b) The letter contained 11 demands from the Indian citizens. They included fair treatment, remova
salt

duty, freedom to revolutionaries and other prisoners etc.
(c) The letter included a contract from the Indian National Congress to rule India as partners.
(d) The letter included a request to form a new political party apart from the Indian National Congr

(ii) Why did Mahatma Gandhi manufacture salt to violate a law?
(I) Salt tax bothered the rich and the poor alike. It joined people in a common struggle against thei

Oppressors.
(IT) Breaking a law by manufacturing salt was the least violent and most effective rebellion.
(IIT) People were not interested in breaking the law in any other form.

Options:




(a)Statement (I) and (III) are correct
(b)Statement (I) is correct

(c)Both (I) and (II) are both correct
(d) (I), (IT) and (IIT) are correct

(iii) In December 1929, under the presidency of Jawaharlal Nehru, the
formalized the demand of ¢ Purna Swaraj’ or full independence for India.

(a) The Central Legislature

(b) Provincial Council

(c) Indian National Congress
(d) Hindu Mahasabha

(iv) How did salt unify the Indians together?

(a) It was producted by all the classes in the country.

(b)It was consumed by all the classes and groups in the country

(c) It was important for Indian heritage

(d) It was important for Hindus who formed majority of the population.

(v) The growth of modern nationalism in India is intimately connected to which of the followijfg
events:

(a)Anti- Racial Movement

(b) Religious Reform Movements

(c) Anti — Imperial Movement

(d) Secessionist movement of Sikhs

(vi) Which of the following movements for independence was never called off by Gandhi?
(a) Non- Cooperation movement

(b) Khilafat movement

(¢) Quit India movement

(d) Civil Disobedience movement

(vii) Which of the following leaders were two radical leaders and members of Congress?
(a)Bhagat Singh and Battukeshwar Dutta

(b) Motilal Nehru and C.R.Das

(c) Jawaharlal Nehru and Subhash Chandra Bose

(d) Purshottamdas Thakurdas and G.D. Birla

(viii) The non- participation of industrial workers in the Civil Disobedience Movement.
(a) Industrialists were close to the Congress.

(b) British offered them good salaries.

(c)They were reluctant to boycott foreign goods

(d) Growth of socialism

(ix) To protest against the salt tax,Gandhiji undertook:
(a) Non — Cooperation Movement

(b) Civil disobedience

(c) Dandi March

(d) Protests against Simon Commission

(x) Which one of the following statements is not related to Gandhi — Irwin Pact?



(a) Gandhiji agreed not to launch any further mass agitation against the British.
(b) Gandhiji agreed to particiapate in a Round Table Conference.

(c) Gandhiji decided to call — off the Civil Disobedience movement.

(d) The British agreed to release the political prisoners

(xi) Identify the appropriate reason for the formation of the Swaraj party from the options gifje
below:

(a) Wanted members of Congress to return to Council Politics

(b) Wanted members of Congress to ask for Purna Swaraj for Indians

(c) Wanted members of Congress to ask Dominion State for India

(d) Wanted members of Congress to oppose Simon Commission

(xii) Certain events are given below. Choose the appropriate chronological order:
(I) Coming of Simon Commission to India
(IT) Demand of Purna Swaraj in Lahore Session of INC

(IIT) Government of India Act, 1919
(IV) Champaran Satyagraha

Choose the correct sequence:
(a) (1) — (I1) — AV) — (I)
(b) (1) — (I) - (IV) — (III)
(c) D) — ) = (@) - (V)
(d) (IV) — 11) — (1) — (IT)

(xiii) Identify the leader:
(1) He served as the president of the Indian National Congress

(2) He set up the Oudh Kisan Sabha
(3) He was a radical leader.

(xiv) What was the offer of Dominion Status for India?

(a) India was to be an independent country.

(b) India was to change its status from a colonised country to a dominated country

(c) India was to continue to be colonised country but with more participation of Indians in the
administration.

(d) India was to become part of another country called Scotland.

(xv) The flag used during the Swadeshi movement had 8 lotuses on it. Which of the
following did they represent?

(a) 8 Bengal cities

(b) 8 colours of different religions

(c) 8 provinces of British India

(d) 8 states to be formed after India gains Independence

(xvi) Hind Swaraj : Gandhiji , Anand Math :
(a) Abanindranath Tagore

(b) Rabindranath Tagore

(c) Bankim Chandra Chattopadhyay

(d) Raja Ravi Varma

(xvii) Which of the following organisations were formed by industrialists in colonial India ?
(a) Indian Industrial and Commercial Congress in 1920.
(b) Federation of the Indian Chamber of Commerce and Industries (FICCI) in 1927




(c)Both (a) and (b)
(d) None of the above

(xviii) Which of the following incident happened on 6™ January 1921?
(a) Gandhiji wrote a letter to Lord Irwin.

(b) Lahore Session of Congress was concluded.

(c) The Salt March was launched by Gandhiji.

(d) The police fired at peasants.

(xix) Which one of the following agreements gave reserved seats to the ‘Depressed Classes’ in
Provincial and Central Legislative Councils?

(a) Lucknow Pact

(b) Gandhi- Irwin Pact

(c) Poona Pact

(d) None of these

(xx) The tricolor (red, green and white) Swaraj flag designed by Mahatma Gandhi with a
spinning wheel in the center symbolized

(a) The flag represented Britain as a nation.

(b) The flag wanted to spread the idea of self — help among people.

(c) The flag represented the idea and spirit of India as a nation.

(d)The flag was created to decorate the image of Bharat Mata.

(xxi) Match the important years from Column A with related events given in column B

Column A (Important Years) Column B ( Related Events)
(A) 1918 () Simon Commission arrived in India

(B) 1922 (IT) First Independence Day

(C) 1828 (I1I) Satyagraha for Cotton mill workers
(D) 1930 (IV) NCM was called off

(@) (A)— (@), (B) - ID), (C) - (D) , (D) - (AV)

(b) (A) - (II), (B) = (IV), (C) = (1) , (D) — (II)
(©) (A)-(AV), (B) - II), (C) - (I), (D) - (I)
(d) (A) - (D), (B) - (IID) , (C) = (D) , (D) = AV)

Q8 Assertion Reason Based Questions

In the questions given below, there are two statements marked as Assertion (A) and Reason
(R). Read the statements and choose the correct option.

a) Both A and R are true and R is the correct explanation of A.

b) Both A and R are true but R is not the correct explanation of A.
c) Ais true but R is false.

d) A is false but R is true

Q8.1 Assertion (A):The non — cooperation movement was adopted in Madras Congress session
in 1919.
Reason (R): Chauri Chaura was the place where non — cooperation movement was called
off.




Q 8.2 Assertion (A):A growing anger against the colonial government was thus bringing together
various groups and classes of Indians into a common struggle for freedom in the first half of the
twentieth century.

Reason (R): Diverse groups were all tortured by British in one way or the other. .

Q 8.3 Assertion (A): The British saw Indians as backward and primitive, incapable of governing
themselves.
Reason (R): Indians were inefficient workers.

Q9 Case Based Questions
In Hind Swaraj Mahatma Gandhi declared that British rule was established in India with

the cooperation of Indians, and had survived only because of this cooperation. If Indians
refused to cooperate, British rule in India would collapse within a year, and Swaraj would
come. How could non-cooperation become a movement? Gandhiji proposed that the
movement should unfold in stages.

Q9.1 Which programme was adopted at the Congress session at Nagpur in December 1920.

Q9.2 Gandbhiji declared that British rule was established in India with the cooperation of Indians.
What proposal was suggested by Gandhiji to collapse British rule from India?

Q9.3 What was the main aim of launching the programme which was adopted at the
Congress session at Nagpur in December 1920.

Q10 If you were a peasant in Uttar Pradesh in 1920, how would you have responded to
Gandhiji’s call for Swaraj? Give reasons for your response
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BT MR WL DI |

11. SIGdh AT HT H9 Fd7d TIed Bl oxgd & S99 Ufd I T I IR S1dl &
?

12. gRAY IR W 59 UBR J=ai & FIRES [AH™ # aud IR AR g 2
HIAT &1 ATFd’ UIS & AR WR 370 IR SR |

13. R UTS "HIAT Bl 3Afeel’ & IIMER W IS B8l Sl Febell & b el BT U
fOdT & o1 o o |, R 1 fJuar & F9a 98 #f & IRVT ofdl & ATTd! T
A SAD] T goIg &l Hepdll B ?

14, STaTg AIE9 o T4 3 AT G TaRT ogeb Dl 3R R <@l ? AR ard
ATed SART WS Tl H AT B & T RAT HROT & Addl @ °

15. TRUTADBT 1 TSNl DI il AR W N H gedsiae I fa@rs off ? g9
HEM! BT USADY TRAITHT & AABTRAT & URT AT T RO §cht & 2

Note:- Do all work in Hindi register only.




Geography

Q Complete and draw the below flow charts in the notebook

Agriculture

Production of crops,
fruits, vegetables
and flowers.

Animal husbandly
for the use of
animal products.

Farming Process ]

Farming Patterns
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Cropping Pattern

Kharif Zaid Rabi

» Sowing time

» Sowing time > H tin i
N arvesting time
> Sowing time » Harvesting time Y &

> Harvesting time > Main crops

» Main crops
» Main crops

Major Crops

Food Crops Cash Crops Horticulture

Crops

Plantation
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